¥ Snaitta
1) 83462 * 704 is divisible by 3, then the sum of possible digits in place of *is:
83462* 704, 3 T fAHTS &I, AT &1 TUTH T HHTIAT 37l &1 AT &

(a) 17. (b) 15. (c) 16. (d)19

2) The largest number which should replace * in the number 2365*4 to make the number divisible
by 4 is:

dg Ty 937 TEAT i Il & S G&IT 2365*4 H o TATH I 3T ATRT dlfeh Yred J&AT 4 § s 8172
A)9 B)O C)2 D)8




LT
3) If the number 1005x4 is completely divisible by 8, then the smallest integer in place of x will be:

Ife AT 1005%4, 8 { I AT § dl x & TUT I HIH BIT YOI ....... M|
@1. (b)0. (c)4. (d)2

4)How many pairs of X and Y are possible in the number 763X4Y2, if the number is divisible by 9?

HEIT 763X4Y2 H X TUTY o fohdel S8 G4 § AT Ig A} 9 H [Fafaid giar g
(@)8. (b)9. (c)10. (d) M
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5) If 8947A56B1 is divisible by 9, where B is an odd number. Find the sum of all possible value of
A?

379 8947A56B1, 9 ¥ [3HTsT &, ST8T B Uk Awe I&ar &1 A & gt ganfaa AT o1 et AT A2

(@)26. (b)27. (c)30. (d)36

6)What is the least value of x such that 517x324 is divisible by 12?

X T sgeTcH HIeT T § oh 517x324, 12 4 a7 872

@3. (®)1. ()0 (d)2



¥ Srwtra
5922
6489
380247
6891647
68761
6901895
12373179
573573
347347
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7) What is the value of x so that the seven digit number 5656x52 is divisible by 727?
X ST HTT FIT 1T foh 7-37h1T T&AT 5656x52, 72 @ AT &

@5 (0)3. (c)7. (d)8

8) What is the value of x so that the 7-digit number 91876x2 is divisible by 727
X ST HTT T 19T b 7 37hrar G&ar 91876x2, 72 ¥ FuTsa g7
(a) 2. (b)7. (c)6. (d)3
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9) If a 9-digit number 389x6378y is divisible by 72, then the value of sqrt(6x + 7y) will be:
Ife; T 9- 3R TEAT 389x6378y m, 72 T Tas=T 8, Al sqrt(6x + 7y) T AT gI9TN:-

A8 B). C)9. D)10

10) If11-digit number 5678x43267y is divisible by 72, then the value of sqrt(5x + 8y) is
Te 11- 37hIT AT 5678x43267y, 72 ¥ faA=T §, dl squrt (5x+8y )3T HTT gI4T:
(@)4. (b)6. () 7. (d)8
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11). If 10-digit number 5432y1749x is divisible by 72 then what is the value of (5x - 4y)

Ife 10- 3P TEIT 5432y1749x, 72 T AT §, A (5x - 4y) T HTH gIam:;

@9. (b)10. (c)14. (d)15

12) If the 10-digit number 897359y7x2 is divisible by 72, then what is the value of (3x + y) for the
possible greatest value of y?

afe 10 37epT o7 TEAT 897359y7x2, 72 | AHTST §, dl y I AHITAT T4 §3 Al & T (3.xry) &7 ATA
FAT§?

(a) 23. (b)28.  (c)27. (d)25



#%W«/

13) For what value of x is the seven-digit number 46393x8 divisible by 11?

X o opg AT & TIT 1T 37T T T&AT 46393x8, 11 @ AT §
(a) 5. (b)3. ()2 ()7

14)What should replace in the number 94*2357, so that number is divisible by 117?
TEAT 94*2357 H Y fovd 37 § IIAEATTUT 3T T1RT, arfes ag F&ar 11 § AT g2
(a) 1. (b)7. (c)8. (d)3
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15) If 738A6A is divisible by 11, then the value of A is.

A)6. B)3. C)9 )4

16) If digit number X35624 and 1257Y4 are divisible by 11 and 72, respectively, what is the value of
(5x - 2y) ?

Ife B 3ol arell TEI3AT x35624 3R 1257y4 HaAer: 11 3R 72 & GH=IT § d (5x - 2y) &7 AT 4T
gremm?

(@)14. (b)12. (c)10. (d)13
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17)If the nine-digit number 708x6y8z9 is 99what is the value of x+y+z?
T 708x6y8z9 ATl =il 7R aTell HEAT 99 H [THTSH §, Al x+y+z T HT FAT &7

@)27. ()5  (c)16. (d)9

18)If the 6-digit number is 15x1y2 is divisible by 44, then (x+y) is equal to:
Ife 6 3R F&AT 15x1y2, 44 7 TAATST B, aF (x + y) S &:-
(a) 8. (b)7. [c]6 (d)9
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19) What is the value of x so that the 7-digit number 6913x08 is divisible by 887
7 3T TE&AT 6913x08, 88 T AT & A« X FTI AT £?

(@)4. (b)2. (c)8. (d)6

20) If the 8-digit nuniber 2074x4y2 is divisible by 88 then the value of (4x + 3y) is
Tfe 8 3hrT TEAT 2074.x4y2, 88 W fas=T &, aF (4x + 3y) R &:-
(a)49. (b)36. (c)42. (d)45
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21)What is the least value of x such that 517x324 is divisible by 127

X T wclH HIeT T & foh 517x324, 12 4 a8 872
@3. (b)1. (c)0. (d)2

22) If 11-digit number 543247x968y is divisible by 90, then the value of (4x + 5y)
Ife; 11 3ol T T&AT 543247x968y, 90 T A= &, A (4x + 5y) FT AT g
(@)24. (b)21. (c)25. (d)16



